FLUINLE ME W3JI U= LHQYA RE O8], &S

OlAM =gl

=5 4Y/HIE o[0ix|

Xt

1.4581 12| ctal.
EM O]

AT, ZEA

MY i, E= & Qe BotaE 3

H0|X]

Y MK AE|QIEA AR 1.4301.
E

J8i ol Eatal U ST Ma oot &2l

(K o OZEIUAE SZ A S E AR, LHE L Z3 dMH7LEH 2
x|
% = (1.
=
_ A-80 mm 22\
~
o| T
3 A\ BT
) | .!Fl
? 29
A .
=
= @) -
L
Es g9
2HQIA A8 RE T8
FEHS Bt el =A A A B D H L 3
N
K0227.200081 A Qdnt 200 26 M8x35 60 226 1000
K0227.300081 A oot 300 26 M8x35 60 326 1000
K0227.400081 A odof 400 26 M8x35 60 426 1000
K0227.200082 A A™AM ZatAE! H3o|M 200 26 M8x35 60 226 1000
K0227.300082 A AEM E2tAE] MlEfo|M 300 26 M8x35 60 326 1000
K0227.400082 A A M ZetAE] Mlgjo|M 400 26 M8x35 60 426 1000
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 11



